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def fib(n): #38 CBREL S LM n BB S
""'accept an integer n.
return the numbers less than n in Fibonacci sequence.'''
a,b=1,1
while a<n:

print(a,end="")

a,b=b,atb
print ()
Z R IR 7 R
£ib(1000) #1R R AL, 455 B 1000 £ S

TRACHS 7 B AN RE AR ML AR 4 68 ] 2 P IR 4 e bl 25 i BRI . 7 E
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&l 5-1 fir .
def T1btnf:
"7’ accept an integer n.
return the rumbers lesz than n in Fibonacci seguence.’ ™'
a3, b=1, 1
while a < n:
print {a, end=" ')
a, b="b, ath
prirt ()

»»» print (fib. __doc__)
accept an integer n.
return the numbers less than n in Fibonaccl sequence.
»»» help(fib)
Help on function fib in module __main _:

fib(n)
accept an integer n.
return the numbers less than n in Fibonacci =egquence.

»»» fib{]
in}

accept an integer n.

return the rmumberz lezz than n in Fibonacci sequence.
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return ) R REAS B 25 A N IZ BR B L return None 2538, HLR [0 25 {f .
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>>>def myMap (iterable, op,value) : # HE R B
if op not in '"+-% /':

return 'Error operator'

def nested (item) : #it B E LR R
return eval (repr (item)+op+repr (value))
return map (nested, iterable) #4T FHAE pRB 3R 2 S R AR
>>>1ist (myMap (range (5), '+',5)) 0 B N R i N T INSE N A B )
[5,6,7,8,9]
>>>1ist (myMap (range (5),"'-"',5))

[-5,-4,-3,-2,-1]
>>>1ist (myMap (range (5),"'* ',5))
[0,5,10,15,20]
>>>1ist (myMap (range (5),'/"',5))
[0.0,0.2,0.4,0.6,0.8]

T Y B BN R BOR E R A A S A R A R Cn, D =C(n—1, D) +C(n—
1, i— 1) HEATAH A% Cln, D) 1y B3R i

def f2(n,1i):
cache2=dict ()

def f(n,1i):
if n==1i or i==0:
return 1
elif (n,1i) not in cache2:
cache2[(n,i)]=f(n-1,1i) +f(n-1,1-1)

return cache2[(n,1i)]

return £ (n, 1)



114 Python 2 Fi& it FF & = 8

A PR B E SO AR D5 8 AR R H IR AR 2 R O xR 2 S B
PR 1Y R B S A ST R i AT 280

2. TSR

PR T Python AR IR R 2 — . i T J5 i 0 AF 76 B W2 rT I Y . R list O
tupleO) \dict ) \set O XAER) T B PR LA RN 7RG T k. O AR
__call__OJ7rERYZERXT QA2 rT I TR . T 1 A AU 8 pR B i B o S B T AT

FXT G5 e
def linear(a,b):
def result (x): #7E Python 1, BREIE AT AR £ 8 L 1Y
return a*x +b
return result # 3R [5] ] % I B pR AR

AR R TR I R E

class linear:
def init (self,a,b):
self.a,self.b=a,b
def  call (self,x): #3xX B G HE

return self.a* x +self.b

A7 FH T ) 25 R CEIOR 23X R 5 TP A Aoy — A L AT LU 5 LR 89 07 Ok E S —
LIRS E OB

taxes=1inear(0.3,2)
SR 5 38 3 T Y 5 ORI T 42

taxes (5)

3. 2R

M 4% (decorator) St bR &R ik 55 78 LAY 5 — D H 2N ] B M A Il bt )& — 4> bR
B AN I 3K R RO WOH At e VR D 2 B0 F X FEE AT — R B9 i 22 ) R R R R e
T2 6 B RS T I 2ROk R At AT R 1 5 B A 4% 5K BLAY . Python Wik A 1R 23X
FER L . N A ACRS R T A g i 2 S5 T D5 vk 8 SCH b R B0 Z BT s 2 e
s BEPAT A 308 F AR . w4 T AT A7 e K 42 v AURD S T

def before (func) : # 8 SCAB M A%
def wrapper (¥*args,**kwargs) :
print ('Before function called."')
return func (*args,**kwargs)

return wrapper

def after (func): # 5 B



EoE KEERREA(—.: &Y

115

def wrapper (¥args,**kwargs) :
result=func(* args, * * kwargs)
print ('After function called.')
return result

return wrapper

@before

@after

def test(): A [) EsF 87 T A 16 A 4 o i o 4
print (3)

# V8 B 18 A ) R K

test ()

AR Y 58 2 —FF, AU I 745 3

Before function called.
3

After function called.

A AR o SR G A A A S R T P 44 A T e B AR L G T T 1 X
SAMBERFIESHHE 6 5,

def check permission (func):
def wrapper (¥args,**kwargs) :
if kwargs.get ('username') !='admin':
raise Exception ('Sorry. You are not allowed."')
return func (*args,**kwargs)

return wrapper

class ReadWriteFile (object) :
# K%L check permission 1 g2 i 4% i A
@check permission
def read(self,username, filename) :

return open (filename, 'r') .read()

def write (self,username, filename,content) :
open (filename, 'a+') .write (content)
# PR L check permission fE K% 38 ok H A

write=check permission(write)

t=ReadWriteFile ()

print ('Originally*-")

print (t.read (username="admin', filename=r'd:\sample.txt"'))

print ('Now,try to write to a file* ')

t.write (username="'admin', filename=r'd:\sample.txt',content="'\nhello world")

print ('After calling to write ")
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print (t.read (username="'admin', filename=r'd:\sample.txt'))

I TP R A6 o 8 o e B AT RIS e A A A R ol O T S
M e 7 AT 9 PR AT A50R L OF HA R0k S 1 A D 3 N R B S R S B N AE AR . AR
Je A G A 2 1E ST pR R £3 O ol AT S 2 DR SR 28 45 80 55 78 9 0T B 32 3 A9 i
2 PR B 1 1 B AT AR ) B DR L EUR R T R — 4

from functools import wraps

#5E XA A%
def cachedFunc (func) :
#0005 M A i v ] 45
cache=dict ()
# % B b5 R BT S
@wraps (func)
def newFunc (¥args) :
if args not in cache:
cache[args]=func (*¥args)
return cachelargs]
# 3R [0 46 BIC 1) 7 R ER

return newFunc

# 1 A M 6%
@cachedFunc
def £f3(n,1i):
if n==1 or i==0:
return 1

return £f3(n-1,1) +£f3(n-1,1i-1)
(7] A5 00 46 A i 3 ] 28 IR B2 5051 1 3k U1 oK fik o 4K

@cachedFunc
def fibl(i):
if i<2:
return 1

return £fibl (i-1) +£fibl(i-2)

N T SEE R INfE . Python $r#E )% functools 24 T — AN 1EE AT #% 1ru_cache, A DA
R B 4 AR B PR AR L P 9 280 maxsize ﬁﬁﬂéfgﬁﬂiﬂéﬁﬁ 4% HBCR, M AF I 2 H AL
IR ) e KB 2 [ S B e il e A A 45 B . a0 1 A AR5, LAl R L T A9 48 0 5 AR
REMFRZ,

import functools
@ functools.lru cache (maxsize=64)
def f4(n,1i):

if n==1 or i==0:



58 HABEAKR—): &Y 117

return 1

return f4 (n-1,1) +f4(n-1,1i-1)

513 HWHEMEWRMHEH
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>>>def func() :

print (func.x) # A H PR func M BT x
>>> func () #ILAE BREL func WA BB x, 1S
AttributeError: 'function' object has no attribute 'x'
>>>func.x=3 # Bl Ay R B N B
>>>func ()
3
>>> func.x #E SN AL AT LB B2 U7 In) oR B B B
3
>>>del func.x 4 1] 153 R B3R B
>>> func () # W B Z J5 AN AT )

AttributeError: 'function' object has no attribute 'x'
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REFEE A, F AU 6 53 50 32 b e A e R Z ML R4S 7E Python B4 X
REAAY 0 B2

def recursiveSum(lst) :
if len(lst)==1:
return 1st[0]

return 1st[0] +recursiveSum(lst[1l:])

17151 ) R D) i 2 U 2 B R TR R 0 i s R AT S AU fae AL TR
B num BT BOEE R

from random import randint

def factors (num, fac=1[]):
#BEVHR N 2 T4 25 3% R 8
for i in range (2, int (num**0.5)+1) :
# 3B — A~ 5
if num%i==0:
fac.append (i)
FX AR SR, A XA R
factors (num//i, fac)
#HE, XA break EH EE
break
else:
$ARTOrE T, A S A

fac.append (num)

facs=1[]

n=randint (2, 10%*8)
factors (n, facs)
result="%*"'.join (map(str, facs))
if n==eval (result):

print (n,'='+result)
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80, VR eR B [ A% % 52 2 (arguments) , HEHE S [ (9 2 503600 4% 52 S 10 (5 5 1
B2, E X RBI AT Z A SR R S RIS S 1268 A sl E =
P AE—E R JE LT R RO SR B ek R I RE

— BOR UL R RN T BB BOE S AR 2RSS, il .

>>>def addOne (a) :
a+=1 FEXFERSGE DR LR a
>>>a=3
>>>addOne (a)
>>>a # 5L H A Z B3
3

MIBTTE R AT IR TR R BN TRE S TR 2 a (A 2 Y R EUE T 85 R LU 56
Z a MEDIFBCA BB M. SR, 513 52 it A5 00k 9 R A8 e 81 2 BY A 0 o K 2 Bt 2
A RRCA H I I ) R T LR A X R A B O IE S S Beh ST R i AR AR
ESLSE R

>>>def modify (v) : HEM I FRILRME
v[0]l=v[0]+1

>>>a=[2]

>>>modify (a)

>>>a

[3]

>>>def modify (v,item) : # BRI MIT &
v.append (item)

>>>a=[2]

>>>modify (a, 3)

>>>a
[2,3]
>>>def modify (d) : HE R T HoT R A SO F B INOT R

d['age']=38
>>>a={'name':'Dong', 'age':37, 'sex':'Male'}

>>>modify (a)

>>>a

{'age': 38, 'name': 'Dong', 'sex': 'Male'}

>>>def modify(s,v): t HESHRMITR
s.add (v)

>>>s={1,2,3}
>>>modify (s, 4)
>>>s

{1,2,3,4}

AR L AR AL 1B 2 bR R S A 3 T VAR S A A E R R R R A L O ELAE R
RO AL T AR s 51 A B SRR 4 75 X0 AT AR Py BN A B 0 3R 8 BT SR AR L B
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%

?Hﬁ/?}%‘[ﬁzﬁ%aﬁéé@%lﬁﬁo mmeﬁmython &ﬁxﬁ&%ﬁuﬁﬁﬁo
521 &S H

i1 B 2% (positional arguments) J& Fb 385 9B 20, o8 FH 2R B0 52 2 FOE 2 19 i 7
WhI ™A — B, IF B S S AL S 0 B0 2 A [R]

>>>def demo (a,b,c) : T E SR E SR
print(a,b,c)

>>>demo (3,4,5)

345

>>>demo (3,5, 4)

354

>>>demo (1,2, 3,4) L2 5 S 080 U AU R

TypeError: demo () takes 3 positional arguments but 4 were given

522 HIEHZH

P78 SCRRELI , Python SZHFERINMA S 80, 7652 R BN AT LA JE 2 15 B B . 7
JE FAAT A BRIAE S 500 R B, o7 LUK F R 38 T BB W IE 2 201745 . B iR 50K 25
L i FH PR ORI SRS A A R DA o 224 8Kt T L e S oG R R e L BN .t 2
V. ERRARHNEETARKANESHEEIS AN AAKRKW RS . £ — R E
AR R KR 3R A4 D RE S TR A T A R KRR B A 2 BOR ) R s Al g R B S 0 B
BRIME K PRAIE 1] J5 2505 N B2 i =& FH P 9 6 0 . 75 2R R R L 78 SO A BIAE S 8
B PR T — P EBRAES AL AEBHIEERNEN LB ESE, S0 &4
INIEERT IR . A BOIME S BN REUE GBI

def & (-, ESZ=8INHE) :
IR AQUN

AR T s 44 . __defaults__ " B &8 & oR RO A BONE S 800 25 A (B R [l
NI Horb (0 R AR KRR A BOAE S B0 S A

>>>def say( message,times=1):
print ((message+' ') ¥ times)
>>>say. _defaults

(1,)

P HTZ R B AR FUOR 5 — S S ML 18 90 WA — A S 80 ATBOAE 1. 2R
BoASEUL B S A AT BOAE 1. iR A A UL I (.



